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N = 0] &F AF S & AN A
EXN: A4
HM: HM2HAH (AL W) (IIEH/DIEH)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
24 1 32,635,457 33,748,891 N1,113,434
= 757,000
g 10,908,000
A 175,000
= 1,440,800
= 19,354,657
SHMAAH (AL ) (IIEH/DIE}) 59,523 67,792 N8,269
Jl2dHl 59,523 67,792 A8,269
Jl2 &4l 59,523 67,792 A8,269
201 et 9| 27,008 28,544 A 1,536
01 AP 2t 2] H| 23,168 24,704 A 1,536
Ogtt4f24| 16,640
— A2 300,000 x12& 3,600
ANRID| 22ZE 700,000 x12& 8,400
— 03 Y A2= I} 200,000 x4 D] 800
—QNEIF=Es= 600,000& x4 | 2,400
— &) 2= 60,000& =20 12& 1,440
O3 &l 8,000& x17H 44l x12& 6,528
02 Z=22%H| 3,840 3,840 0
0O2222 2 MA 200,000& x12& 2,400
OINE=E=3:[E=PNE:] 120,000& x12& 1,440
202 044l 27,595 34,088 AN6,493
01 2L Y| 27,595 34,088 N6,493
ORN2g JI2LRE ot
110,000 x17¥ x12& 22,440
O&duH(Fas &4 5)
75,800& 17 x4 5,155
203 €2 F&d| 4,920 5,160 A 240
04 ENSIE LR F=XH| 4,920 5,160 A 240
ORNSY P2 (ZE 312 0/4)
410,000& «12& 4,920
TE2I|Et RA(SLDNE/ER) 3,207,355 5,981,483 N2,774,128
= 111,000
N 175,000
= 2,921,355
CZANESAEH L BLAY 103,793 92,816 10,977
cCellzde 24 103,793 92,816 10,977
101 124 H] 20,843 18,796 2,047
04 JI2ZtHIZ2 2 NEE S 20,843 18,796 2,047
ONYEZ NEY EA Q12|
66,800 x2H 39 K| & 31 [} 15,632




A AL
M CRI|Y M (+SUNE/TR)
Sl SRALSIH L BaAY (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ONZEE NE2 ZA OF2gt
66,800 2% 39K & » 11 CH 5,211
201 L2l 64,950 63,520 1,430
01 At 22l 28,850 27,420 1,430
OE2S2=7 Ul X2
605,000 x22 1301 S H*13| 15,730
O aelaos a4 =2 70,0003 «8H x43] 2,240
OEZERR H&2F =l
8,000& x15H 24 x 128 2,880
OL2E+¥ MSH (L& AMEE &)
400,000& x20H 8,000
02 =224l 36,100 36,100 0
OuFI & =AI(ER) A=l
1,500 44 =150 x 152 »6& 8,100
Oz=EXg K50 & Huldl
2,000& 108 *4CH*250 20,000
OE2=FxXtg HHEFX &
5,000,000% = 1CH 5,000
OUWlFIl & Edl==4H 3,000,000 =14 3,000
206 M= Hl 18,000 10,500 7,500
01 =8l 18,000 10,500 7,500
=23 AGEER F2Y 40,0003 x5&+15H 3,000
ON&E gatzs ¢ 15,000& » 1,000 15,000
CE2IX HAAY 696,434 3,437,577 A2,741,143
= 111,000
EN 175,000
i 410,434
FEEZ HEAHE(EX) 472,835 3,236,137 A2,763,302
EN 175,000
i 297,835
401 Al BIZ 2018 472,835 3,236,137 A2,763,302
EN 175,000
[ 297,835
01 A& HI 470,000 3,230,000 A2,760,000
OuWXZ2 (AIELXIF) Al 100,000, 000& * 14 100,000
OstEH ATHX AIJHX &EHl JI2H& 2 EBE
HXA B84 20,000, 0003 *14] 20,000
Osdetd A E=2 FHl 350,000,000 * 14 350,000
EN 175,000
i 175,000
03 A& =2 THHI 2,835 6,137 A 3,302
O/IEETZ MEASE AIZR0HI
450,000,000& *0.63/100 2,835
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o 112,599
401 AlEHIZL £ 0HY| 223,599 201,440 22,159
= 111,000
= 112,599
01 Al&EH| 222,000 200,000 22,000
OE=2xSEs HelolEs32Y HHIZAH
100,000,000 =14l 100,000
=2 50,000
= 50,000
OXHEx=ESsSW HelolEs32Y HHIZAH
122,000,000 =14l 122,000
=2 61,000
= 61,000
03 AlE 21| 1,599 1,440 159
Oeol2s3a9 A& 20Ul
222,000,000 x0.72/100 1,599
C - -sHEEZZ HHAY 2,407,128 2,451,090 N43,962
D EAHU A 301,080 452,160 A 151,080
Al 812 = Tl 301,080 452,160 A 151,080
01 Al&H| 300,000 450,000 A 150,000
OZThad(A2XN?)FAETZ2 2XINH (212
) 300,000,000 » 1Al 300,000
03 Al&E 201 Y| 1,080 2,160 A 1,080
OZ = HHIAIY Al 2|
300,000,000 x0.36/100 1,080
SHECR FHIAY 200,720 582,880 £382,160
401 A& HI L 204 HI 200,720 582,880 A 382,160
1 Al& H| 200,000 580,000 A 380,000
QY M2 (F2-22)E2 K4
200,000,000& * 1Al 200,000
03 Al 201 Y| 720 2,880 N2,160
OsHEZZHUIAIE AIZL20HH]
200,000,000 x0.36/100 720
CERN MY 1,905,328 1,416,050 489,278
401 Al HI L 2 0HHI 1,905,328 1,416,050 489,278
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Oo=& 2t&d &HHl 100,000,000 =14l 100,000
Ot & sHECE T8 B4
200,000,000 * 1Al 200,000
OZ==2Hi4=A& Y 100,000, 000 1Al 100,000
OE=ZtM AL HH| 60,000, 000& = 14! 60,000
O=% =28 EHID| 150,000,000 = 14! 150,000
OsHEE =2 Xz ZH|D]|
100,000,000 =14l 100,000
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ONEEM(2E & SHEZZ)
50,000,000& =14l 50,000
OASY ng 32388 849
150,000, 000& * 14! 150,000
Oung WadsEII 84 60,000,000 =14l 60,000
Oug UWaEZLEH &4 60,000,000& * 14! 60,000
OE29Y CHHEX HHI 100,000,000 = 14! 100,000
O=% ZMX &l 100,000, 000& * 14 100,000
OzZ& 28 EXALEE &1
100,000, 000& * 14 100,000
OnsENEa3 50,000,000 » 14! 50,000
oY ZENSE(RAEXF)EF FH
20,000,000 » 14! 20,000
OXNE UW2HM=X &+ wz F
20,000,000 » 14! 20,000
OXNE 25956 &2 HH(SE-F0tS)
130,000, 000& 14! 130,000
Ozk8sd =7 =2 =4
10,000, 000& 14! 10,000
OXE 25956 T28 NESHH(SU-0F
) 10,000, 000& * 14! 10,000
OXE &2 dsd=793 ug &l
100,000, 000& 14! 100,000
Ofd =2& Z0M bl 10,000, 000& * 14 10,000
OZEZRY & Mitst 29
100,000, 000& * 14 100,000
Ot 2&4546 T2 Hi=Ie
100,000, 000& * 14 100,000
ORY 2LAM ILYEZ(sE31254) e
=Pyl 20,000,000& =14 20,000
03 Al S THHI 5,328 6,050 AT22
ORI ALY AlE R0
1,480,000, 000& *0.36/100 5,328
SHMAD|IB M (sEHLSA/ = - &) 12,437,994 23,450,740 A 11,012,746
= 646,000
s 1,960,000
< 310,800
= 9,521,194
=gt xS 6,210,652 6,668,256 A 457,604
= 646,000
< 193,800
[ia 5,370,852
SZEZTAS 1,589,361 2,093,762 A 504,401
401 Al HIZ 2018 1,589,361 2,093,762 A 504,401
01 A& HI 1,585,000 2,090,000 A 505,000
Oodd 22 =2 &2 50,000,000& =14 50,000
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N7 =2 HUISA
3

ots S22 MEZA

40,000,000 14
=2 B+ 10,000, 000& * 14!
=2 & 20,000,000& =14l
02 ¢S =2 SEZIMY

30,000,000& » 14|
SZEISAM 40,000, 000 * 14
SZ ZESA 25,000,000 *14]
SZHE S A 25,000,000& » 14|
SZTEHESAM 20,000,000& * 14!
SZEESAM 20,000,000& » 14|
0t s2 MEZIZA

20,000,000% *14!

0,000,000& 14!

H A=EE =2 ZFSA
20,000,000& » 14|
H HELK 52 LI SA
25,000,000 =14l
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Z0tE2 s2 EHISAM
15,000,000& * 14!
02 s2 SZZ3A
20,000,000& » 14|
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20,000,000& » 14|
2 RS2 ZE SAM
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A7 =2 Z& A
20,000,000& =14l
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20,000,000& =14l
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=2 ZE3AM 20,000,000& =14l
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SN AAD
A SAMMIIE B (SHHSSL/S5Y - 5&)
& sgolgtxd (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O84 &3 =2 FH 10,000, 0002 14! 10,000
084 & s M4 30,000,000& =14 30,000
Oo84Y ddX7 = Mgz Fl
10,000, 000& 14 10,000
O&d= Jtellle s & 20,000,000 14! 20,000
O&=2 232 s2 &l 30,000,000& =14 30,000
OF= Y0t s Z& 20,000,000 14! 20,000
O&F= EX+ s Z& 20,000,000 14! 20,000
OF2 &4 =2 2 10,000, 000& 14! 10,000
OXNE MEOE s2 EXZA
20,000,000 =14l 20,000
OXE Ohetts s2 ZHIZA
50,000,000& =14l 50,000
OXNE 4 =2 =2 SZLESA
50,000,000 =14l 50,000
ORe 9A70lg =20 41 2 s2HEN
150,000, 000& * 14! 150,000
OFfY 93 s ZEIZ A 40,000,000 14 40,000
ORY === ZZSAM 20,000,000& =14 20,000
O+ £30tS s2EE M
20,000,000& =14 20,000
O+ SH02 S sZZFE ZA
30,000,000& =14 30,000
O M sXUR= ¢S sZ2EY SA
30,000,000& =14l 30,000
O+ S s2MHE M
20,000,000& =14l 20,000
O2F Ua0S s2 HEZTSM
30,000,000& =14 30,000
O2F NHEOS s2 ST 3M
30,000,000& =14 30,000
O®= 4= =2 &IXZZE 100,000,000 =14 100,000
O8=Z 722012 52 8
20,000,000 » 14! 20,000
OR= M2 25 =2 L H
30,000,000& » 14 30,000
OR= 0t €82 s2 LH
25,000,000& » 14! 25,000
03 Al =TI 4,361 3,762 599
OsSZZ3AMY A&=F0H
1,615,000,000& *0.27/100 4,361
=3 th== HHIALS 1,646,434 1,723,268 ANT6,834
401 Al Bl 28I 1,646,434 1,723,268 ANT6,834
01 A& HI 1,642,000 1,720,000 A 78,000
02y 228 JI=d Y EX3A
10,000, 000& * 14! 10,000




EXN: A4
A SAMMIIE B (SHHSSL/S5Y - 5&)
R sgI|Btx A
5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
O9d H ot =2 AXZA
50,000,000 = 14! 50,000
0oy &ad 242 AX2A
30,000,000& = 14! 30,000
OJiell 2202 422 dHAY
100,000,000 = 14! 100,000
OJiell &A=0I2 20 2t £+2 HHIALY
25,000,000 = 14! 25,000
OJiell tH&E0I2 S22 JHIAS
30,000,000 = 14! 30,000
OJiell 8502 5+ U AL
40,000,000 =14l 40,000
OZE= leits == EXZ2A
20,000,000& = 14! 20,000
OZEz AZE SHix==2 AXZ2A
20,000,000& = 14! 20,000
OZE=3 AIZ0IE 842 U Z2A
30,000,000 = 14! 30,000
OZ =2 A2 2Hi4+2 D HZ2A
20,000,000 = 14! 20,000
OZ=2 X U422 HHIZ2A
20,000,000 = 14! 20,000
oo ==02 842 HHIZ2A
20,000,000& = 14! 20,000
oo #H0IE2 842 Ul Z2A
30,000,000& = 14! 30,000
O AN A=2 242 EXSA
25,000,000& = 14! 25,000
OStd Hetui==2 EXIZ2AF 20,000,000 1A 20,000
O3t YF2X 7 =2 EXZ2AH
20,000,000 x 1Al 20,000
O3t stbl£=2 HHIZAF 20,000,000 =14l 20,000
OStd St2XF =z =& ZA
20,000,000& = 14! 20,000
OStd H=t==2 HHIZAF 10,000,000 1A 10,000
OStd MEE a2 XA
30,000,000 x1A! 30,000
O84Y 4Hl s+ &4 50,000,000& = 14! 50,000
o2dY 3= =2 &4l 20,000,000 = 14! 20,000
o249 22 BX=2 142 FH|
30,000,000 x 14! 30,000
o4 &= =2 A4 30,000,000& = 14! 30,000
o4 24 =2 A 20,000,000 = 14! 20,000
og4d &3XP Hix==2 &l
20,000,000 = 14! 20,000
O&d= ot=0I2 Hix==2 &l
20,000,000& = 14! 20,000




2N
A SAMMIIE B (SHHSSL/S5Y - 5&)
SRR MIITE L (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O&8= 88X Hix==2 &l
20,000,000 x 14! 20,000
Oz &=0I8 842 4|
25,000,000 = 14! 25,000
OF=2 22 =2 &4l 20,000,000 x 1Al 20,000
OXHE EHE 22 =2 Al Z2At
20,000,000 x 1Al 20,000
OXHE 220t == HHIZ2AH
20,000,000 x 1Al 20,000
OXdE 8 =2 XA
20,000,000 x 1Al 20,000
OX&E SA =2 AX3A
20,000,000 x 1Al 20,000
OXNE SA4E HI=2 HH Z2A
30,000,000 1Al 30,000
OXNAE 9482 Hi4=2 HHl Z2A
30,000,000 x 1Al 30,000
OY AN AJIE HI=2 HHl Z2A
40,000,000 =14l 40,000
OY AN sttotS 232 =2 Ul Z2AF
20,000,000 x 1Al 20,000
OY M HZ20tS =2 EHHIZ2AH
12,000,000 = 1Al 12,000
OYMNd B30I 8 =2 ESHZBA
70,000,000 x 1Al 70,000
OY AN SH0IS =2 MAEZA
15,000,000 « 1Al 15,000
OF8 it =2 HH|ISA
20,000,000 x 1Al 20,000
OF8 ot =2 AHl S At
40,000,000 =14l 40,000
o2 s2l0ts =2 HHIZ2A
40,000,000 =14l 40,000
O+ =8 dUE Etl=2 E&XSAH
30,000,000 x 1Al 30,000
O3 AE0S M= Stix=2 XS At
30,000,000 x 1Al 30,000
Osx &30t M= Stiax=2 ddl S At
30,000,000 x1A! 30,000
O2x HES0ts 22 =28 X2 A
10,000,000 « 1Al 10,000
O AE0IS 253 St U A
10,000,000 « 1Al 10,000
Osx M0 M= S22 =2 X SA
10,000,000 =1 Al 10,000
Os=% oldHOI2 S22 & X3A
30,000,000 x1A! 30,000
O=28 &0t 2+ HHIZAH
100,000,000 =14l 100,000




A R =y
A SAMMIIE B (SHHSSL/S5Y - 5&)
e HRSI-PIETE ST (St &)
- . 4 =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=27 HE &S =2 EXSAM
40,000,000& =14 40,000
O=27 HEDIS =2 EHIZA
20,000,000& =14 20,000
O=27 2H27 == FHIZA
30,000,000& =14l 30,000
OR3 743 S¥8 42 JUISA
20,000,000& =14 20,000
OfR= 284 H2S 842 2Z2ZuHSA
40,000,000& =14 40,000
03 AlE 2 THHI 4,434 3,268 1,166
OZHi+=2 FHIAIY AIEZ=0HI
1,642,000,000& *0.27/100 4,434
=clAld HE=ALS 1,579,253 1,108,978 470,275
401 Al HI K 201 I 1,579,253 1,108,978 470,275
01 A& HI 1,575,000 1,105,000 470,000
Oogd 2= M=X FHIAL
100,000, 000& * 14 100,000
O2g g sgE2d He
20,000,000& =14 20,000
Oog et sgE2d N
20,000,000& =14 20,000
O2dgd 22X+ sYES2AF g
20,000,000& =14 20,000
Oog 217 =ZsS2d Heg
20,000,000& =14 20,000
Oog & sgsE2d e
20,000,000& =14 20,000
O2d 23S S¥E 2FMLAMY
20,000,000& =14 20,000
O2d el =48 2FMLAS
20,000,000& =14 20,000
OJtell 2802 2ZHL ALY
20,000,000& =14 20,000
OJtell JH&0tS 2Z LAY
20,000,000& =14 20,000
OJtell THAEDIS 2HEHZ ALY
20,000,000& =14 20,000
OFE= AE HFH ZA 30,000,000 =14l 30,000
OZF X+ 2FNY 20,000,000& =14 20,000
OZFF &==X7 23N 20,000,000 =14 20,000
Ol &J|0tES =& 2EMNLAY
20,000,000 =14l 20,000
Otiel dlotS L=sAlE = EAHAME
10,000, 000& 14! 10,000

oHe F&X7 sg=E 2FNL ALY
20,000,000& » 14| 20,000
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SYMADE S (N LM/ - 5F)
sl sy ol A Q)
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
SEEN T
20,000,000 =14 20,000
O dJI0le 5 =98 23N
20,000,000& =14 20,000
ORZT RT& BIY+T I
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